A

WAGNER

WZ12-160CPS
AR5 R

[C40043A

2023.02

G B v AN AL e AR /Y 2L S I

=]
SRS

A -



WZ12-160CPS

A
WAGNER

POS R 4 B FEAM ik
1 2113101 |H/8— 1

2 2113102 |~ 75— 3— A 1

3 2113103 |~75—H/3—B 1

4 2113104 |=75— 1

5 2113105 |=F%) —RA AT 1

6 2110241 |F4— 1 1,800[5 X 5 X 40

7 1 — 7= GBI8OLN-175
8 2113106 |HER AT AR 1

9 2113107 |Bvh_—2 1

10 | 2110025 [FLBPHHR 2 1 3,100{ ¢ 30 X 26H15-15
11 2113109 |HH 1

12 | 2113110 |/ 7 AZ— 4 1,300[{M8

13 | 2113111 |Hidig 4 2,700( ¢ 150

14 | 2113112 |Z7V—ow2 1 12,300[900A

15 | 2113120 |@ERS~T 1 200,000{LWS3022G

16 | 2113113 |AKTH 7 H— 1 4,500{G1/2M X R1/2M
17 | 2110243 |WKHA 74042 — 1 620| ¢ 15.5

18 | 2104496 |42 F My )VRT X 75— 1 3,800|G3/8FxR3/8M
19 | 2113180 |7rma—H 317 1 43,900[VB5

20 | 2110242 |&KH=v7 ) 1 3,800|G3/8M X R3/8M
21 | 2110245 |7 —h&F2—7 1 780|8 X 13 X 100
22 | 2103401 |[frooF=>7 v 1 1,300{G1/4F X ¢ 9

23 | 2102502 |AR—/L LT 1 7,700(1/4

24 | 2104700 |[F— 1 5,000|R1/4F

25 | 2115559 | JJEFSNLIA R~ 1 9,900/ ¢ 50 + 25MPa
26 | 2104002 |=v 7L 1 870|R1/4M

27 | 2118067 |H7F—Y/ b 1 4,400{SUS3/8F

28 | 2104033 |[FAAATI/LAR 1 4,000|R3/8

fIAk - dn - MRS T ERKER T 2ENHYET,

2

LC40043A

2023.02




A

WAGNER

>~ 7 [LWS3022G] (PN 2113120)

o
AY

[£7

WZ12-160CPS

el

=l

[C40044A

| \ V)
S0 99 /0 89 |
. hﬂl@
or—3 €

S~
0€ 62 82 £2 92 @
/ - 1y
H. o

6L ZL OLSL¥LELZL L

2023.02

T - P = AN AL (e IR /Y o/ S B

Ik -



WZ12-160CPS

A
WAGNER

POS TS it e TEAM ik
1 2113121 |~=A&—/ R 1 150,000

2 2113122 |77 0 1 1/8

3 2113123 |5 RALRVR 8 380[M6 X 55

4 2110311 |0 Vv O6 270(17.32 X 2.62

5 2113124 |73 7o —F 06

6 2113125 |7 06

7 2113126 |\ 7277 O6

8 2113127 | <74 —o 06 650

2113128 |/3/L7 Assy 06 6,000[15%) 6 Ty L

9 2110316 |0 Uv 2 6 270[20.29 X 2.62

10 2113129 | ST F57 6 10,100

11 2113130 |AAMARNLE 3 M5 X 10

12 2113131 | R_T7VUL T TIF509 1

13 2113132 | X7V % 1 3,500

14 2113133 |0V 1 750/44.04 X 3.53

15 2113134 |RF o7V 1 C JEHlH 20

16 2113135 |_7UL 1 8,600(6304

17 2113136 |/Fv0/r—A 1

18 2113137 | H A7 vk 1 400

19 2113138 |AANT—D 1 2,300

20 2113139 | ~vRU @3 990

21 2113140 |@E/ Sy @3 10,600

22 2113141 |[EE v @3 4,500

23 2113142 |7y XL VT AF— 3 10,300

24 2113143 |0 U2 @3 620[26.7 x 1.78

2113144 |3—F vk [ ] 26,800({113%) 1 B b3l

25 2113145 |A AN —ib 3 2,500|15 X 24 X 5

26 2113146 |F vk 3 3,300

27 2113147 |Uvv— 3 990[8.2 X 14 X 1.5
28 2113148 | FIo % — 3 20,000| 7737 ¢ 18
29 2113149 |Uviv— 3 1,600

30 2110371 |0 U2 3 270[6.07 X 1.78

31 2113150 |7Fv Vv —nmvR 3 16,500

32 2113151 |=axrT 47 myRe’ 3 4,000

33 2113152 |axr7 7 ayR 3 14,700

34 2113153 | Fhpli e 4 1 1,800( ¢ 18

35 2113154 | AANYARTTA 1 2,600

36 2113155 |0 U2 1 520(23.51 X 1.78

37 2113156 |0 V2 1 1,500[94.93 X 2.62

38 2113157 |oFv 0 —AT R — 1 12,800

39 2113158 | AR/ E 4 M6 X 25

46 2113159 |0 Vv 1 520[14 x 2

47 2113160 | SNA757 2 2,000[3/8

49 2113161 |Uviv— 1 16.7 X 22 X 1.5
50 2113162 | NFATF0 1 1/2

51 2113163 |Uviv— 1 21.2 X 27 X 1.5
62 2113164 |AAARLR 4 M6 X 20

63 2113165 |Huft770v 1 58,400

64 2113166 | AfR/LE 4 M8 X 20

65 2113167 |A AN —)b 1 3,800[35 X 62 X 7

66 2113168 |AF> 7V 1 C el 35

67 2113169 |AFo7Vr s 1 C B/ 62

68 2113170 |Tviv— 1

69 2113171 |_7VU o 1 8,400(6007

70 2113172 |UFv 0 %7k 1

4
HE « 50 - ST SRS BT L EABIET, LC40044A 2023.02




7>Aa—4—/\)L7 [VB5] (PN 2113180)

s \ &
/," ‘-‘\' . R

[C40045A

5
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.02



: A
WZ12-160CPS wAGNER

POS i B4 B FEAM ik
1 2040067 |7 UKL haRrsH 1 4,300

2 2152046 |0V O1 270[18.77 X 1.78
3 2040066 |[A SV 1 400

4 2040065 |F v 31T 1 3,400

5 2152064 (O V2 O1 520[6 X 3

6 2113181 |[RF ¢ 1 26,800

7 2040057 [—LUvi oy 1 400

8 2040056 |FF7 1 1,600

9 2113182 [/ 7 —] Assy O1 3,500

10 2113183 |fAJE V7 O1 4,500

11 2110086 |O V7 O1 500[14 X 1.78

12 2113184 | A~—H— 1 3,800

13 2113185 |\ 77V O1 2,000(7 X 9

14 2113186 |0V O1 500(8.73 X 1.78
15 2113187 | A~S—H— 1 3,500

16 2113188 |[E"&AR» 1 8,400

17 2113189 |\ 77V O'1 2,300[11 X 13

18 2113190 |0V O'1 380[12.42 X 1.78
19 2110370 |0V O'1 500[17.17 X 1.78
20 2113191 |[ERAR AT 1 3,700

21 2113192 |[FL—hk 1 2,900

22 2113193 |/ IED AL 1 520[M4 X 4

23 2113194 |@vrF vk 1 5,200

24 2113195 [JHERAT VT 1 3,500

25 2113196  |FiJET kK 1 5,000

26 2113197 |/~ 1 2,100

2113199 [U~_T7F vk O 13,400

[L.C40045A

6
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.02



WZ12-160CPS WAGNER

K = RIKIALFR—R

ID40001A
POS R a4 HE: TEAM ik

1 1
1-1 2116134 W « KV AL TR—A 18,400|G1/2 + G3/8 X 3m
1-3 2116136 |43y 3/4 1,700[5 #z AV
1-4 2116137 |[O4/3v% 1/2 1,500(5 Ht AV
1-5 2116138 |4/ 3v%3/8 1,300[5 Ft AV

2 2116320 |[ARL—F— - [ 1 4,200|G3/4F

1.D40001C
7

fIAk - dn - MRS T ERKER T 2ENHYET, 2023.02



